
A ( 1 : 2 )

Tool mounting flange A6

D ( 1 : 3 )

Base frame

E ( 1 : 5 )

F ( 1 : 5 )

B-B 

Z ( 2 : 1 )

Y ( 2 : 1 )

B

B

Z

Y

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

Connecting dimensions, valid for article number: AT_00016

Mechanical endless (**)

`123°

`185°

- 180° / + 65° (*)

Range fully usable

Motion

- 38° / + 145° (*)

`185°

Axes

A1

A4

A3

A5

A6

A2

kg

m=
kg 

 

 

P=

U=

Imax=

kW

V / Hz / Ph

A

 

 

 

 

p=

V=

bar

l/min

 

 

 

AT_00016

A

proj. storage 

surface =  m²

First angle projection

(*) More information can be found in 

the document "calibration dimensions"

(**) Control system dependent

articc.m6-2390-150kg

Axes 6

Payload (on TCP) 150 kg

Supplementary load on arm 50 kg

Reach 2390 mm

Mounting position Ceiling, Floor

5
6

5
1

0
0

0
1

0
5

250

185950

2
5

2
1

6
8
5

1
2

1
0

52

1050

1321

779

2206

1
8

7
0

3
2

9
,
5

8
9

2
2

,
2

5

4
4

,
5

110 110

3
8

0
2

4
0

1
2

0

1
1

8

8020

1
1

4
,
7

5

66,25

66,25

+z

+x

+y

Kinematic origin

M16 x30 (12x)

M8 x16 (8x)

A2-axis

A1-axis

Motion range of A5-axis

rotation center

TCP

(Tool Center Point)

A3-axis

M8 x14 (6x)

A5-axis

A6-axis

Max. area center of load

More information can be found in the 

document "Load on tool flange"

TCP

(Tool Center Point)

Max. center of load (150kg)

A4-axis

R

2

1

4

0

(300)

M12 x24 (4x)

R

4

8

5

6
0

0
n

+x

+z

+y

153 220

538

4
0

8
0

2
2

,
5

2
2

,
5

M8 x16 (8x)

M8 x12 (3x)

for the supplementary load on arm

A

6

0

°

n
1

2

5

280 280

252 252

202

20

20

197,5

20

20

185

M8 x12 (6x)

2
0

5
6

5

1
5

6
5

1
1

8

+z

+y

+x

D

n5

0

0

2

0

n
H

7

(
2

0

2

0

,

0

2

1

)

1

2

,

5

°

4

5

°

4

5

°

1

2

,

5

°

n24 (8x)

2
0

H
7

(

2
0

2
0

,
0

2
1

)

4248250

`0,02

(
1

3
4

,
3

2
)

(
1

7
6

,
7

8
)

(176,78)

(210,85)

(176,78)

(210,85)

(
1

3
4

,
3

2
)

(
1

7
6

,
7

8
)

for screws M20

(DIN ISO 4014/4017-8.8)

the tightening torque

for these screws 

is 390 Nm (in steel frame)

E

F

4
5

232180

M8 x12 (6x)

for the supplementary load on arm

4
5

100

M8 x14 (3x)

for the supplementary load on arm

1
7

1

3

8

°

-

1

4

5

°

+

180°-

6

5

°

+

1

2

3

°

-

1

2

3

°

+

164

3
3

9

1
6

9

6

0

°

6

x

 

(

=

3

6

0

°

)

1
0

n
H

7
(

1
0

1
0

,
0

1
5

)

15

1
0

M
 
(
6

x
)

8
0

H
7

(

8
0

8
0

,
0

3

)
n 1

6
0

h
8

(

1
5

9
,
9

3
7

1
6

0

)
n

10

1
x
4

5
°

1x45°

17

14

Rev_03


